== —

!

Ilch Al fie

=P

Taikiciyo Férry

=

S F‘gatl‘ijlﬂfl—rq EEeEEsEsmmmm sl N T \\\ ;ﬂ@_\
o © = © 0o oo 0O O OO OO O o000 00 0000 s \/
FHw/ (o o o 0o Do o0 O CI/:| 0oon ooon 0 o o o
et A e e ) el e e e R e R AR
- -
Azt ﬁ Qlﬁ‘@?‘lﬂ lu‘ccx}’J

raw2TvuE

ad

® D
\_/

37w+

DTG D N G R e 6 G e T |

27vd —

e e e TS

Ml s s e

N

7 HeeTreneToraew |
\

—_
. \
(X2 \\
A._ A | —
AF ST
45—

BT vF
INDAS A — TA Y AZESA T — (ENRH I3EE) JOnZ
B i R s )
87w+ HaEl LD [Elch\d |DIEE
LI i P = 192.64—kU
i 27A—FJ
B ki | wor Yy K 13,694#8 >
= K &E N 24.55/ vk
B IR (mXAXEH) JFE12PC2-6B
M 1 8,000kW(10,8805E17) x2&
BUGTIAYAY HomlbhE fjﬁ %5 E é 535%
i Ty ol Y % % 102 348
1 3
7 & — R 122 484
\} N [—
1%% SOAYA Y ©70 070 070 00 00 HDRYA Y 33= 66%
Voaas EAET R A e o
B ' D AN b 2= 6%
: I3/3=324) 758
sz B B B8 20042
a G B B 484
= | paaz | pEaz W5 FSA4N—= 5648
ar | wm || ¥ pg EHENS R
. ey ! Fowo 1668 FME146E8
ET R ErTE e
723!724 725|726 ?E?|7'EB|7'EE D .. TLN—=% 2%
|6 6| @@l @ -
ﬁf@ EHO AVTEA—TAY  FRO
P — - o
HER 1% % s0RAYAY 5= = | 7 )
— 80100 [s10le11|e12]613]614]615]616]61 7|61 8]/ W7 TU— B fiet
SEaVES e i 6 (#)|(i¥) (if‘)r(if‘)|(;“ﬂ (#}|t&.‘) 6190%) ﬁzj ¥ 557 | ess | &71 | 672 U=
BO262) | ) ROl [Tl |EFEE | R B
Ti—Ran B33 AT Fw L TUP/ 7 =
50363 i 11/=-1 gaq 2
= el I_:JJ:7 -
B04GH) - Sl o 2[2®
L3 1o =— : 2|7 i ¥ — -
Ta—Z ST T 635 U= KA —(thiE
E05(%) Io/=—| 638 £ S
- bl | TD/E— .
TR e ) '
GoseH S gl 4
72—22 1 [ |
ﬁozgﬁ B e g o }Eﬁ%@g 2 B S 0 K — = ¥ BFtEpT
U 1620|621 |622|623|624|626|626|62 7628|629 =R i =) e
60860 [Ge 2 [ T8 {m|<m s ol | Wee | il ) 3 TR HERR

w2\ A% T /-

| sommes \

JA>Dvh—

a0l
AE—FTIb—1

T ri—5—

2019.1




